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EVALUATION:

 













Due Date:   _________________
PART A – KNOWLEDGE AND UNDERSTANDING  (K/U)
1.
The graph shows the path of a basketball when a player makes an attempt at a shot.



















      Path of a Basketball


a)
What is the maximum height 
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of the basket ball?  (2 marks)
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______________________

                                   8

b)
Approximately how tall is                  Height (m)

the player?  (2 marks)                               
           6

______________________


         
 
     4

                        2


c)
How long does the ball travel

in the air?  (2 marks)
    0.5
      1        1.5         2        2.5


______________________











Time (s)


d)
How would the graph change for a taller player?  (2 marks)

_______________________________________________________________________________

2.
Identify which type of relation each equation represents.  (4 marks)
a) y = 2x2 – 3 









b)
y = -3x + 2


______________________






_____________________

b) y = 5(2)x










d)
y = 2x2 + 6x – 1 

______________________






_____________________

3.
Circle the variable in y = ¼mc2 should be set constant to obtain a linear relation?  (1 mark)
a)    y



b)
m



c)
c



d)
T



4.
A music industry association is planning an awards banquet.  This graph shows the total cost of the banquet based on the number of people who attend it.

a)
What is the vertical intercept?  What does it represent?

(2 marks)


b)
Calculate the rate of change of cost with respect to the number of people.  What does it represent?  

(3 marks)
PART B – APPLICATION  (App.)
1.
Jake started his personal watercraft from rest and accelerated.  He recorded the speed at the end of each second, as shown in the table.
	Time (s)
	0
	1
	2
	3
	4
	5
	6
	7

	Speed (Km/h)
	0
	6
	12
	18
	24
	30
	36
	42


a) Does the table show a linear or a non-linear relationship between time and the speed of the watercraft?  (2 marks)
b) Determine the rate of change of the speed with respect to time.  Include proper units.  (2 marks)
c) If the trend continues, how fast will the watercraft be travelling after 10 s have elapsed?

(2 marks)

2.
A football is kicked in the air.

a) When is the height of the ball increasing?  When is it decreasing?  (2 marks)
b) When does the ball reach its maximum height? 
How high is it?  (2 marks)
PART C – THINKING/INQUIRY/PROBLEM SOLVING  (TIPS)
1.
Jack and Diane each bought new cars.  Jack’s car cost $14 000 and Diane’s car cost $16 000.  The value of both cars will depreciate (lose value) 10% each year.


a)
Sketch a graph of the values of the two cars overtime.  (4 marks)
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


b)
How are the two curves similar?  (2 marks)


____________________________________________________________________________



____________________________________________________________________________

c)
How are the two curves different?  (2 marks)


____________________________________________________________________________



____________________________________________________________________________


2.
Sketch an exponential curve that decays less rapidly
than this graph and has the same initial value.  (2 marks)
PART D – COMMUNICATION  (Com.)
1.
Describe two methods to find slope of a line.  (2 marks)

Method #1:
___________________________________________________________________



Method #2:
___________________________________________________________________

2.
For each graph of a stock index, describe the trend in stock prices.  (3 marks)

a)









b)








 c)



      Value







     Value







Value


Time









Time







Time

Trend:
_________________


Trend:
_________________


Trend:
________________

_______________________


_______________________


______________________

3.
If data follows a linear model, what is true of the rate of change over equal intervals?  (2 marks)

_______________________________________________________________________________


_______________________________________________________________________________

4.
For the following table of values.  Describe the shape and classify the graph as linear, quadratic, or exponential.  (2 marks)
	x
	0
	1
	2
	3
	4
	5
	6

	y
	10
	9
	6
	1
	–6
	–15
	–26



Description:
___________________________________________________________________

Classification:
_______________________________________

5.
A police officer uses this graph to estimate the speed of a vehicle when it crashed based on the length of the skid marks left on the road.  Describe the trends in the graph.  (2 marks)
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